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T: exhaust time (s), V: volume (L), S: displacement (l/s), P1: initial pressure (Pa), P2: final pressure (Pa), for example：

1.100 liters chamber, within 10 minutes from the atmosphere evacuated to 20Pa, how to do pump selection ?

   S=(V/T)*2.303*log(P1/P2)

     =(100/10)*2.303*log(100,000/20)

     =10*2.303*3.699 

     =85(l/min)

     =1.42(l/s)

   Need choose vacuum pump of 4l/s.

2.100 liters chamber, use 8l/s vacuum pump, pumping from atmosphere to 200Pa, how long time will be spent?

   T=(V/S)*2.303*log(P1/P2)

     =(100/8)*2.303*log(100,000/200)

     =77s

   Need 77 seconds.

V: volume (L), S: displacement (l/s). 

This formula is suitable for atmospheric pressure to estimate 133Pa, for example：

100 liters chamber, with 8l/s vacuum pump, pumping from atmosphere to 133Pa, how long time will be spent? 

T= 8V/S ( empirical formula )

  =8x100/8  

  =100s, need 100 seconds.

Absolute vacuum degree=100,000*(1-  X/0.1)Pa, X=absolute value of vacuum meter reading, for example：

Vacuum meter reading=-0 .075，absolute vacuum degree=100,000*(1-0.075/0.1)=25,000Pa

Vacuum meter reading=-0 .097，absolute vacuum degree=100,000*(1-0.097/0.1)=3,000Pa

Vacuum meter reading=-700mmHg，absolute vacuum degree=100,000*(1-700/760)=7,900Pa
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